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p- 736: Replace the inequalities beside the coordinate transformation by
the following:
0, <= (z =1,. -3),

0<
0<bps <

p. 737, Equation (1.10): Delete the first member of the equation. The
second member is correct.

p.- 741, Equation (2.8): The term (z—r+14b cos §) should read
(z—y +1bcosb).

P- 745, line 11 from bottom: b = @ cos B should read b = asinp.

p. 746, Equation (4.2): The numerator sin?§ in the left integral should
read cos f(x —z’ +ir cos ).

p- 749, last line of the paragraph: Read ‘at’ instead of ‘of’.
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